








(a)1050 

(b)1750 

(c)750 

(d)425 

In an examination, 35% students failed in one subject and 42% failed in the other 
subject, 30% failed in both the subjects. If total number of students is 2500 then how 
many students passed only in one subject?
एक परीक्षा में, 35% छात्र एक विषय में अनुत्तीर्ण हुए और 42% दूसरे विषय में अनुत्तीर्ण हुए, 

30% छात्र दोनो ों विषयो ों में अनुत्तीर्ण हुए। यवद विद्यावथणयो ों की कुल सोंख्या 2500 है तो केिल
एक विषय में वकतने विद्याथी उत्तीर्ण हुए?



(a)26cm 

(b)52cm 

(c)104cm 

(d)13cm 

The whole surface area of a rectangular block is 8788 square cm. If its length, breadth 
and height are in the ratio of 4: 3:2, then the length of it is:
एकआयताकार गुटके का सोंपूर्ण पृष्ठीय के्षत्रफल 8788 िगण सेमी है। यवद इसकी लोंबाई, 
चौडाई और ऊों चाई का अनुपात 4: 3:2 है, तो इसकी लोंबाई है:



(a)11cm 

(b)12cm 

(c)13cm 

(d)14cm 

The ratio between the diameter and height of a cylinder is 12:7. The curved surface area 
of cylinder is 1056 cm2. Find its radius.
एक बेलन के व्यासऔर ऊँचाई का अनुपात 12:7 है। बेलन का िक्र पृष्ठीय के्षत्रफल 1056 
सेमी2 है। इसकी वत्रज्या ज्ञात कीविए।



(a)89 

(b)85 

(c)88 

(d)86 

The average mark of 40 students in an examination of 100 marks in a class is 85. The 
average of the top 15 students is 98 and that of the bottom 15 students is 70. Find the 
average marks of the remaining 10 students.
एक कक्षा में 100 अोंको ों की एक परीक्षा में 40 छात्रो ों का औसत अोंक 85 है। शीषण 15 छात्रो ों
का औसत 98 है और नीचे के 15 छात्रो ों का औसत 70 है। शेष 10 छात्रो ों के औसत अोंक पाएों ।



(a)169 

(b)144 

(c)225 

(d)216 



(a)6600 and 8 

(b)6800 and 8 1/2 

(c)6600 and 8 1/2 

(d)7000 and 8 

A sum of Rs. x amounts to Rs.8,563.50 in 3 1/2 years and to Rs.10,527 in 7 years at y% 
p.a. simple interest. The value of x and y, respectively, are:
x रुपये की रावश 3 1/2 िषों में 8,563.50 रुपये और 7 िषों में y% प्रवत िषण की दर से 10,527 

रुपये हो िाती है। साधारर् ब्याि। क्रमशः x और y के मान हैं:



(a)18.5cm 

(b)15cm 

(c)18cm 

(d)19.5cm 



(a)6 

(b)7 

(c)8 

(d)9 



(a)60°

(b)120 °

(c) 80 °

(d)100 °



(a)+ 5% 

(b)- 5% 

(c)+ 2.25% 

(d)- 2.25% 

A shopkeeper sells two sofa sets one at a loss of 15% and one at a profit of 15%, If the 
selling price of each sofa set is Rs. 39,100. Find the percentage gain/loss in the whole 
transaction.
एक दुकानदार दो सोफा सेट एक को 15% की हावन पर और एक को 15% के लाभ पर

बेचता है, यवद प्रते्यक सोफा सेट का विक्रय मूल्य 39,100 रुपये है। पूरे लेन-देन में प्रवतशत
लाभ/हावन ज्ञात कीविए।



(a)75√ 55 

(b)65√ 55 

(c)75√45 

(d)65√45 

The two equal sides of an isosceles triangle is 40 cm each and the third side is 30 cm. 
What is the area (in cm²) of the triangle?
एक समविबाहु वत्रभुि की दो बराबर भुिाओों में से प्रते्यक 40 सेमी और तीसरी भुिा 30 सेमी
है। वत्रभुि का के्षत्रफल (सेमी² में) क्या है?



(a)1 

(b)17 

(c)10 

(d)11 



(a)60 

(b)20 

(c) 15

(d) 35

n = 475AB is a positive integer whose tens and units digits are A and B, respectively. If n 
is divisible by 5, 8 and 9, then what is (10A + B) ?
n = 475AB एक धनात्मक पूर्ाांक है विसके दहाई और इकाई के अोंक क्रमशः Aऔर B हैं।
यवद n 5, 8 और 9 से विभाज्य है, तो (10A + B) क्या है?



(a)15% 

(b)20% 

(c)25% 

(d)50% 

Printed price of a mobile is Rs. 6,400. It is sold in Rs. 2,560 with two consecutive 
discount. If first discount is 20%, then what is the second discount?
एक मोबाइल की वप्रोंटेड कीमत 6,400 रुपये है। यह लगातार दो छूट के साथ 2,560 रुपये में
बेचा िाता है। यवद पहली छूट 20% है, तो दूसरी छूट क्या है?



(a)1/2 

(b) 1/√3

(c)2 

(d)2√3/3 



(a)324 

(b) 432

(c) 540

(d)450 

1020 chocolates are to be divided between 12 men, 11 women and 8 children. Each man, 
woman and child will get chocolates in the ratio of 3:32. What will be the share of men?
1020 चॉकलेट को 12 पुरुषो ों, 11 मवहलाओोंऔर 8 बच्ोों के बीच बाोंटा िाना है। प्रते्यक पुरुष, 
मवहला और बचे् को 3:32 के अनुपात में चॉकलेट वमलेगी। पुरुषो ों का वहस्साक्या होगा?



(a)8km 

(b)15km 

(c)12km 

(d)9km 

A man travels an equal distance from P to Q with three different speed of 10 km/h, 12 
km/h and 15 km/h. The total time taken by man to travel the distance is 45 minutes. 
Find the total distance from P to Q.
एक व्यक्ति 10 वकमी/घोंटा, 12 वकमी/घोंटा और 15 वकमी/घोंटा की तीन अलग-अलग गवत से P 
से Q तक समान दूरी तय करता है। इस दूरी को तय करने में आदमी िारा वलया गया कुल

समय 45 वमनट है। P से Q तक की कुल दूरी ज्ञात कीविए।



(a)9/7 

(b)7/12 

(c)12/7 

(d)7/9 



(a)0 

(b)1 

(c)-1 

(d)2 

For what value of k, will the roots of the equation kx²-5x+6=0 be in the ratio of 2 : 3? k के

वकस मान के वलए समीकरर् kx²-5x+6=0 के मूल 2:3 के अनुपात में हो ोंगे?



(a)8 cm 

(b)12 cm 

(c)8 cm 

(d)16 cm 

Two circle C (O, r) and C' (O', r1) intersect each other at P and Q respectively. OO' cut 
common chord at M such that OQ = 17 cm and OM = 15 cm then find the length of PQ.
दो िृत्त C (O, r) और C' (O', r1) एक दूसरे को क्रमशः P और Q पर प्रवतचे्छद करते हैं। OO' ने
उभयवनष्ठ िीिा कोM पर इस प्रकार काटा वक OQ = 17 सेमी और OM = 15 सेमी, तो PQ की
लोंबाई ज्ञात कीविए।



(A)84cm² (B)88cm² (C) 48cm² (D)64cm²

The in-radius and circumradius of a right-angled triangle is 3 cm and 12.5 cm, respectively. 
The area of the triangle is:
एकसमकोर् वत्रभुिकी वत्रज्याऔर पररवध क्रमशः 3 सेमीऔर 12.5 सेमी है। वत्रभुिका
के्षत्रफल है:



(a) 

(b) 

(c) 

(d) 


